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Part A. Read the text and do the following tasks.

       We often hear a saying “Don’t invent a bicycle” about something simple and known for a long time.

       Really the bicycle is old enough-more than a hundred years of age. Its first prototype appeared in 1701 in France. In 1800 a Russian peasant Artamonov made an iron bicycle and travelled on it from Nizhniy Tagil to Moscow.
        Firs bicycles looked strange: the back wheel was usually smaller. Bicycles were made of iron and riding them was not comfortable because of shaking. They were even called “boneshakers”.

        New types of bicycles appeared every year but only in 1885 people saw a model which looked like modern cycles. It had almost equal wheels and a chain drive to the rear wheel. This shape survived and became basic. The mew machine looked more elegant than the old “spiders” which were soon abandoned. As time went by, new bicycles were invented-for two, three and even fifteen riders.
        The first bicycle race was held in 1868 in Paris. But the sport became popular only several decades later because bicycles were expensive and only rich people could afford them. By the end of the nineteenth century many factories produced thousands of bicycles which became cheap, so many people could practice cycling and take part in competitions.
         Cycling competitions are generally divided into road and track events. Both kinds are in the   Olympic programme. Olympic road events include individual and team races.  Individual races’ distances are different usually up to 200 kilometres. The winner is the first cyclist who passes the finish line with his front wheel. Cyclists wear shirts with pockets on the back, tight knee-long woolen shorts, special shoes, a cap and mitts on their hands.   

1. Mark the statements as True or False (4 points):
1. Riding first bicycles was very comfortable.__________
2. As time went by, new bicycles were invented. __________
3. By the end of the twentieth century bicycles became cheap. __________
4. The bicycle is young enough. __________
II. Insert the missing part of the sentence (4 points):
1. In 1800 a Russian peasant made___________________________.
2. In____________________ people saw a model which looked like modern cycles.
3. Soon bicycles_______________________ were invented.

4. At first bicycles______________________________________________________________.
III. Put the sentences into logical order according to the text (6 points):
1.
This shape survived and became basic.____
2.
So many people could practice cycling and take part in competitions.____
3.
Individual races’ distances are different usually up to 200 kilometres. ____
4.
But the sport became popular only several decades later.____
5.
Its first prototype appeared in 1791.____
6.
They were even called “boneshakers”.____
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IV. Choose the correct variant (5 points):
1. What is the best title for the text?



a) Olympic Games                     b) Sport                         c) Cycling

2. What does a saying “To invent a bicycle” mean?

     
a) It means something difficult.  




b) It means something very specific.




c) It means something known.
3. What is the birthplace of a bicycle?





a) France                                    b) Russia                       c) England

4. How was the first bicycle called?

          a) It was called a “liver shaker”.   
          b) It was called a “brainshaker”.

          c) It was called a “boneshaker”.

5. How many parts are there in the modern cycling competitions?

          a) There are three parts.             b) There are two.            c) There is one part.

Part B. Lexical-Grammar Test.
I. Put the verbs in brackets into the correct tense (25 points):
Last week Adrian Wilson (1)________________(invite) to dinner at his girlfriend’s parents’ house. He (2)_____________________(not to meet) them before. He (3)__________________(ask) to come at eight o’clock but he (4)____________________(arrive) at nine. He (5)________________(take off) his coat, (6)_____________________(go) into the sitting room and (7)___________________ (sit) down. He (8)___________________(say) he (9)________________________(be thirsty) and (10)___________________(ask) for a bee. When he (11)____________________(finish) his beer, everyone (12)_________________(get up) to go to the dinner table. Adrian (13)_________________ (serve) first. While the others (14)_____________________(wait) for their soup, Adrian (15)___________________(start) his. When he (16)____________________(finish), he 
(17)____________________(ask) for some more. After his soup he (18)___________________(light up) a cigarette and (19)__________________ (pour) another glass of juice. During the main course he (20)___________________(say) he just (21)_____________________(remember) something and he (22)_____________________(get up) to make a phone call. When he got back, he (23)__________________(say) he (24)_____________________(have to) leave straight away and (25)________________(say) good-by to everybody.
II. Fill in a, an or the where necessary (-) (10 points):
     Captain Smith was ______ captain of “The TITANIC”.  He hoped to prove that “The TITANIC” was ______ fastest ship in ______ world. Although it was early spring he led _____ ship to ______ north. He knew that there were ______ icebergs, but “The TITANIC” was considered to be _______ unsinkable ship.

      When he understood this mistake he helped to evacuate ______ passengers and died as _____ hero. He was one of _____1490 people who drowned on that terrible night.
III. Form the new word using the given one (10 points):
PUPPET SHOWS

Puppets are dolls representing_________________(1) or modern characters 
tradition
in stories. They are popular form of_________________(2) for  both children            entertain
and adults. Some puppets seen in Europe today were_______________(3)                 origin
created in Italy in the 1500s. A puppet show was an________________(4)                 expensive
way to enjoy yourself so people could go to the same______________(5)                   perform
again and again. So what is continuing__________________(6) of the puppet            attract
show? Used by artists, puppets have a living magic. However beautiful, funny            or_______________(7) to look at, they are really simple tools used by artists             fascinate
to express their ideas, ___________________(8)   and character. Of course                person
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they must have great technical____________________ (9), but the fun and                 able
charm come from the way the artists establish__________________(10)                     communicate
with the audience.     
IV. Fill in the gaps with prepositions (5 points):
1. Don’t approach ______ the dog. 2. I arrived ______ the station. 3. She is very good _____ languages. 4. Congratulation ______ your success. 5. There is no increase _______ prices.
V. Rephrase the following sentences (5 points):
1. I have never met anyone famous before.

It’s the __________________________________________________________________________

2. Would you mind dusting the furniture?

Could___________________________________________________________________________

3. It’s a long time since he’s seen his grandmother.

He hasn’t________________________________________________________________________

4. Walking in the city at night is dangerous.

It’s dangerous_____________________________________________________________________

5. She’s too inexperienced to get the job.

She isn’t_________________________________________________________________________

VI. Choose the correct word in each sentence below (6 points):
1. They (rose / raised) their glasses and drank to the happy couple.

2. A crowd of (exciting / excited) people was watching the firemen trying to save the house.

3. We watched the ship (leave / left) the port.
4. Everything (what / that) happened was my fault.

5. Look, the swallows are flying (high / highly).

6. All his belongings were (lying / laying).
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